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1. FHfEICAWVT 2R UM E

FTHM6FEIAFTICHASNEBERAREEEF DRAEF RUVRAGF DO T2 AV TEE
ZREL-, FFEMRBEF. KR EE k. BMSNo), A—R S EE(em), BBMRRAEE
(kg/day) RUPNFDES(emDEIER EL -, EMEDHAERR1DESY,

BEK
e 4 GiELDE)  FHFIRIENE) + EX(EE B/ME EXiE

21K 337,481
BREZ(ke) (+22,007) 4718 (+1.64) =+  62.41 250.4 781.0
BMS(No.) 6.9 (+0.13) = 2.41 1.0 12.0
O—X & EHE(em?) 609 (+053) =+ 1123 20.0 1440
H s A E = (kg/ day) 0.532 (+0.002) =+ 0.08 0.276 0.925
INSDES(cm) 79 (+0.02) =+ 0.96 3.0 14.5
LER RIS E) 293 (-0.02) =+ 1.81 20.0 36.0

BREREH 19,181
BRAEEke) (+341) 4545 (+0.71) =  60.00 255.0 694.0
BMS(No.) 59 (+0.05) =+ 2.32 2 12
O—X & EE(cm?) 570 (+0.17) = 9.94 26.0 119.0
B #5H A E = (kg/ day) 0.52 ( 0.000) =+ 0.07 0.276 0.823
INSDES(cm) 7.7 (+0.01) =+ 0.96 4.0 12.0
LER RIS E) 28.7 ( 0.00) =+ 1.49 20.0 35.3

GECES 318,300
BAEE(ke) (+21,666) 4728 (+1.64) =+ 6240 250.4 781.0
BMS(No.) 70 (+0.13) = 2.40 1 12
O—X i EE(em?) 61.1 (+054) =+  11.27 20.0 1440
H s F A E = (kg/ day) 0.53 ( 0.000) =+ 0.08 0.300 0.925
INSDEE(cm) 79 (+0.02) =+ 0.96 3.0 14.5
LER RS E) 29.3 (-0.03) =+ 1.82 20.0 36.0
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BIER/NSA—E—(F, AFREMUEICKYHEELI=(R2), BREMIE. ROEBEGEHNSA—E—%
UL BLUPKIZKYHTE L=, GE . BIEMIE10~5FR/T (2015FE M 520194F) DREIZZRL=2
FxRIEES (22288) DFHEOELTHIELz, CKEER—RIIBEEH)

R2. BEIGHI/NNTA—E—

BB % BIEE HiT [E] £ € BIRSAY RESEE RESH

BIEREDE (0. (0d,+0% (0.
BAEZ(ke) 0.62 +0.004 1581.70 2551.36 969.66
BMS(No.) 0.68 -0.002 3.17 4.64 1.47
AO—X & EH(em?) 0.59 +0.000 60.81 103.43 42.63
B&Ei AN EE(kg/day)  0.63 +0.001 0.0022 0.0035 0.0013
NSDES(cm) 0.49 +0.006 0.39 0.79 0.40
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